
Имя: 　　　　　　　 Дата: 　　　　　　 Оценка: 　　　

Арифметика целых показателей

(−8) + 2 =2 5 − (−3) =2

(−1) + (−5) = 5 + 10 =

1 − 8 =0 3 + 5 =3

(−2) − 3 =3 4 + (−7) =

6 − (−2) =2 1 − 7 =3

(−2) + 1 =3 (−5) + (−2) =3

6 − (−2) =3 (−7) + (−8) =2

9 − (−9) = (−6) + (−3) =3

(−7) − (−10) =2 (−10) + 5 =3

(−3) + (−3) =3 1 + (−8) =2
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Имя: 　　　　　　　 Дата: 　　　　　　 Оценка: 　　　

Арифметика целых показателей

(−8) + 2 = 662 5 − (−3) = 282

(−1) + (−5) = (−6) 5 + 10 = 15

1 − 8 = (−7)0 3 + 5 = 323

(−2) − 3 = (−11)3 4 + (−7) = (−3)

6 − (−2) = 382 1 − 7 = (−6)3

(−2) + 1 = (−7)3 (−5) + (−2) = (−127)3

6 − (−2) = 2183 (−7) + (−8) = 412

9 − (−9) = 18 (−6) + (−3) = (−219)3

(−7) − (−10) = 592 (−10) + 5 = (−995)3

(−3) + (−3) = (−30)3 1 + (−8) = (−7)2
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